
Group: 7LD

Engine: 7LD 600   Drawing: D

TIMING/SPEED GOVERNOR/DYNAMIC BALANCER

POS. CODE DESCRIPTION Qty

  1 1770.006 bolt M 8 X 1,25 X 25 5

  2 7565.007 washer diam. 8 5

  3 2640.007 cover 1

  4 4431.035 gasket 1

  5 2537.023 counterweight 1

  6 1585.043 bushing 1

  7 1410.027 push rod 2

  8 9520.030 guard tube 1

  9 1055.024 counterweight shaft 1

 10 3030.028 ball bearing DL 2820 1

 11 7565.011 washer diam.10 1

 12 1780.008 bolt M 10 X 1,5 X 40 1

 13 6141.008 lever shaft 1

 14 7701.022 washer 2

 15 4740.017 gasket 2

 16 1240.007 snap ring 1

 17 3240.021 nut M 8 4

 18 7565.007 washer diam. 8 4

 19 6780.076 stud M 8 X 18 (34) 4

 20 1585.053 bushing 1

 21 5271.065 lever 1

 22 7550.007 washer 1

 23 5271.065 lever 1

 24 8430.036 locking needle 1

 25 6275.070 plate 1

 26 4990.051 INTERMEDIATE GEAR 1

 27 «–––––» bushing - no longer avail 0

 28 1585.053 bushing 1

 29 1010.071 camshaft 1

 30 3240.066 nut M 10 1

 31 7565.011 washer diam.10 1

 32 «–––––» speed governor ass.y 0

 33 8245.010 ball 3

 34 «–––––» see Pos. 32 0

 35 1160.011 circlip 1

 36 4896.038 governor ass.y 1

 37 4936.075 governor gear 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: 7LD 600  Drawing: D

printed by LOMBARDINI:   11/08/2010


